
� � � � �����������	�
���	�����	

� � � ����������	�
����
��
���

��������	�
���
���� ����	� � � � ������

��������������

��������

�����
������ ���!!�""#��$�$��%�$�%��

������$�&�&��&�$'��(����(�����

��
�)���)�����*&$��(����

���+��

�����%��������������������

��%$�%���$�%������,�%$�%����������

��)$���-$�)$������
��

����
$����������
$��$
$�.�

���������$/���'���
&($��&��$�����$�.�

���������
�

��0�
���
������1�2����
������ ���!!�""#�3�4�5��0�4�5�3627�3�4�5

1080��104"0�5�3�1972:�����1�308��0�65�7�;01�<=�4�5�=03�
������91>

?�����2=0�"230��=�"��2�����2�5=2�192=0�5��2��16<15=250>�2�3��21

2�<72�@��2�0�2�3�=03�104"0�51�

������

�������� 	
���
��
��

�=�4�5��03


���
����

��""������30

�5��%2�3��0��"27



� � � � �����������	�
���	�����	

� � � ����������	�
����
��
���

��������	�
���
���� ����	� � � � !�����

��������������

� � � � ���������������
��

�����	��77�3�"0�1���1�2=0����"�77�"050=1����70=2��01�2=0±���!��""� ����A#�6�7011��5�0=?�10���503�

� � � � �������
����������������



� � � � �����������	�
���	�����	

� � � ����������	�
����
��
���

��������	�
���
���� ����	� � � � ������

��������������

�����
������
�

��� ����
��
��

� �25��30� � �� ��4�5��#

! �25��30� � �� ��4�5��#

� �25��30� � �� ��4�5�#

� �25��30� � ����� ��4�5��#

� �25��30� � �� ��4�5�!#


 �25��30� � �� ��4�5�!#

� �25��30� � �� ��4�5�!#

B �25��30� � �� ��4�5�!#

C �25��30� � ����� ��4�5�!#

�� �25��30� � �� ��4�5�!#

�� �25��30� � �� ��4�5�!#

�! �25��30� � '� ��4�5!#

�� ��""������30� ��4�5�!#

�� ��""������30� ��4�5��#

�� �25��30� � �� ��4�5��#

�
 �25��30� � �� ��4�5�#

�� �25��30� � �� ��4�5��#

�B �25��30� � '� ��4�5��#



� � � � �����������	�
���	�����	

� � � ����������	�
����
��
���

��������	�
���
���� ����	� � � � ������

��������������

���

������ ����������������!"#$
�

�

�����
�
� ���
�������
�� ��
�

��?0=���11�925�����0=��04"0�5 �� ")

�02@�'�=?2=3��6==0�5��0=��04"0�5

 �������65:��:�70>����"1��6710�)�35��#

� "�

���5��6�61�'�=?2=3��6==0�5��0=��04"0�5

�0=25��4�
��02=�'=�"�!��� �0=��04"0�5

��

��!

"�

"���

�080=10�-�75240��0=��04"0�5 � -

�90=25��4��0"90=256=0��2�40 ����� 5��DB��

�5�=240��0"90=256=0��2�40 ����� 5��DB��

��730=��0"90=256=0	�"2E�!
��� ��=�"2E��10��25���
""�<07�?�1025��4�972�0�

�
�������
�%�
�����
��&������������������!"#$
�

�

�����
�
� �������
�� ���� ���� ��
� �
������	
�
��

�80=240�
6"���61�$�50�1�5: $� ��� C�� µ�3 $�F��"�

�02@��"�11����)28070�45� λ9 
C� �" $�F!�"�

�90�5=27�
��0�%27��)�35� ∆λ C� �" $�F!�"�

��"��2�5�)28070�45� λ3 
�� �" $�F!�"�

'�=?2=3�-�75240��0=��04"0�5 -� !�� !�
 - $�F!�"�

�080=10��6==0�5��0=��04"0�5 $� ��� µ� -�F�-


6"���61�$�50�1�5:�(25����4��25�� $��" !	� $�F��"�

��50	� 
6"���61� ��50�1�5:� �1� "0216=03� ?�5�� 2� 7�4�5� 10�1�=� 2�3� ��750=� ��"<��25���� 5�25

299=�E�"2501�5�0��$�� ��""�1����$�50=�25���270��0�
G��72�=240#�0:0�=019��10��6=80�



� � � � �����������	�
���	�����	

� � � ����������	�
����
��
���

��������	�
���
���� ����	� � � � ������

��������������

�'����
��
�������
�%�
�����
��&�������������������

���������	
���

��
�����
����
������
��	�
����
��


